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1. One of the important challenges facing service operation managers nowadays is “two-income families”. Which services can be inspired because of this very fact? (2 Points)
Services that can be inspired due to “two-income families” trend can be:

· Fast food services
· Children care services
· Pre-kindergarten (Pre-K) Services 

· Banking services through ATM’s and Telephone banking

2. Define “Service shop”. What challenges service managers face when their business necessitates being designed as a service shop? (2 Points)
“Service shop” refers to service operations companies with low labour, high interaction with customers producing services with high level of customization. Challenges encountered by service operation managers under this very kind of business might be:

· Capital decisions

· Technological advances

· Managing demand to avoid peaks and to promote off-peaks

· Scheduling service delivery

3. Contrast “Qualifiers” versus “Service Winners”.  (2 Points)
For a service “Qualifiers” refer to criteria used by a customer to create a subset of services firms meeting minimum performance requirements. On the other hand, “Service Winners” refer to criteria used by a customer to make the final purchase decision among competitors that have been previously qualified.

4. What is “Divergence”? Is customization of a product / service a synonym for “low” or “high” divergence? (2 Points)
“Divergence” refers to a dimension of service process structure that measures the degree of customization or decision-making permitted of service employees. In a divergence continuum, customization of a product / service is a synonym for “high” divergence.

5. Contrast “Technology-assisted service encounter” to “Technology-mediated service encounter”? (2 Points)
“Technology-assisted service encounter” refers to encounters where service provider has access to technology to facilitate the delivery of face-to-face service. On the other hand, “Technology-mediated service encounter” refers to encounters where the customer and human service provider are not physically co-located and thus the service encounter no longer is the traditional “face-to-face” contact. 

6. Define the “Conformance gap” of quality? (2 Points)

“Conformance gap” refers to the quality gap that occurs because the actual delivery of service does not meet the specifications set by management.
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